Algebra 2 Bellwork Thursday, May 26, 2016

1. Give the exact value of each.
a) Cotlgi b) Cscl410° c) Sec(l12—37£>

2. Find each to the nearest hundredth:
a) Sec(%’i) b) Cot(-1723°) c) Csc(%g—)

3. Given Cscx = % find the remaining five trig functions as ratios. Simplify and rationalize all
denominators when necessary.
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1. Give the exact value of each.

a) COt—Ig—” b) Cscl410° c) Sec(—"—lzﬁf) = Sec 9W>
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2. Find each to the hearest hundredth:
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) Sec( 7 ) b) Cot(-1723°) C) Csc( 12)
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3. Given Cscx = —ZT find the remaining five tri ions as ratios. Simplify and rationalize all

denominators when necessary. L {’
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